
MH CET Law 2022 Exam Analysis for 5-Year LLB- Logical & Analytical
Reasoning Section

● Word are not similar to other (ice candy, ice skiing, ice cream) (badmintion, hockey,
cake)

● Virat Kohli: Cricket: Mike Tyson: Boxing, Squash?
● 1 Cause & Effect: (i) The vehicle manufacturer have increased price of vehicles.

(ii) The government has recently increased duty o vehicles.

● The minister questioned the utility of the space research prog & suggested its
replacement by other areas felt national need.

a. Exploding space does not constitute to critical not any needs.
b. Research should be oriented to national needs.


